ACADIA PARISH

PLANT ENTERPRISES PRODUCTION

ACADIA FARISH		PLANT EN	TERPRISES PRODUCTION	Y		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				4,294	cords	
Hardwood				1,575	cords	
Pulpwood (Total)				5,869		
Chip & Saw (Total)				164	cords	
Saw Timber						
Pine				2,182,635	board feet	
Hardwood				1,276,219	board feet	
Saw Timber (Total)				3,458,854		
Total Pulpwood, Chip & Saw,						\$2,173,615
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,360,521
(Total)						
Christmas Trees (Total)	*			150	trees	\$6,000
Forestry (Total)						\$2,179,615
FRUITS						
Citrus						
Satsumas	*	2.0	200.00	400	bu.	\$8,000
Citrus (Total)		2.0				\$8,000
Peaches (Total)	*	7.0	150.00	1,050	bu.	\$42,000
Fruits (Total)		9.0				\$50,000
FEED GRAINS						
Grain Sorghum (Total)	15	3,245.0	81.00	262,845	cwt.	\$940,985
Feed Grains (Total)		3,245.0				\$940,985
GREENHOUSE VEGETABLES						
Tomatoes (Total)	*	5,760.0	4.50 Yield / sq. ft.	25,920	lbs.	\$32,400
Greenhouse Vegetables (Total)		5,760.0				\$32,400
HAY FOR SALE						
Grass (Total)	75	6,500.0	3.00	19,500	tons	\$1,170,000
Hay for Sale (Total)		6,500.0				\$1,170,000

Home Gardens (Total)	600					\$156,000	
Rice (Total)	350	82,563.0	66.00	5,449,158	cwt.	\$38,416,564	
Soybeans (Total)	50	17,177.0	30.00	515,310	bu.	\$3,045,482	
SUGARCANE							
Raw Sugar (Total)	7	1,864.0	5,000.00	9,320,000	lbs.	\$1,143,564	
Molasses (Total)		1,864.0	150.00	279,600	gal.	\$58,716	
Sugarcane (Total)		1,864.0				\$1,202,280	
SWEET POTATOES							
Canning (Total)				66,125		\$132,250	
Fresh (Total)				198,375		\$2,926,031	
Sweet Potatoes (Total)	*	575.0	460.00	264,500	bu. (50 lbs.)	\$3,058,281	
VEGETABLES							
Sweet Corn (Fresh) (Total)	*	10.0	100.00	1,000	doz. ears	\$3,500	
Vegetables (Total)		10.0				\$3,500	
Wheat (Total)	*	117.0	50.00	5,850	bu.	\$19,188	
TOTAL ALL PLANT ENTERPRISES						\$50,274,295	
FISHERIES & WILDLIFF ENTERPRISES PRODUCTION							

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Crawfish (Farm) (Total)	220	20,000	Acres in Prod.	14,000,000	lbs.	\$7,700,000
Catfish (Farm) (Total)	*	350	Acres in Prod.	1,400,000	lbs.	\$980,000
Alligators (Farm) (Total)				26,777	ft.	\$669,435
Aquaculture (Total)						\$9,349,435
FRESHWATER FISHERIES						
Freshwater Finfish (Total)	10			8,703	lbs.	\$4,479
Freshwater Fisheries (Total)						\$4,479
Fur Animals (Total)				627	pelts	\$6,082
Alligators (Wild) (Total)				135	ft.	\$4,050
HUNTING LEASES						
Waterfowl (Total)	45	20,000	No. Acres		acre	\$300,000
			Leased			
All Other Game (Total)	*	5,000	No. Acres		acre	\$35,000
			Leased			
Hunting Leases (Total)						\$335,000

ACADIA PARISH

ACADIA PARISH	FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Honey (Total)	*	2,000 No. Hives	200,000	lbs.	\$118,000
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES				\$9,817,046

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,100	head	\$586,394
400-500 lbs.			1,000	head	\$605,115
500-600 lbs.			400	head	\$262,834
600-700 lbs.			300	head	\$221,052
Steer Calves (Total)					\$1,675,395
Heifer Calves					
300-400 lbs.			600	head	\$280,665
400-500 lbs.			600	head	\$328,239
500-600 lbs.			200	head	\$123,926
600-700 lbs.			200	head	\$139,542
Heifer Calves (Total)					\$872,372
Yearling Cattle					
600-700 lbs.			300	head	\$1,853
700-800 lbs.			200	head	\$1,335
Yearling Cattle (Total)					\$3,188
Cow-Calf Pairs (Total)			1,300	pair	\$1,272,869
Cull Cows (Total)			500	head	\$198,178
Cull Bulls (Total)			100	head	\$92,805
Cattle & Calves (Total)	125	7,000 No. Cows			\$4,114,806
HORSES					
Brood Mares					
Race Horses	7	50 No. Brood Mares	40	head	\$320,000

⁴⁻⁵ months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

HORSES						
Show Horses	70	95	No. Brood Mares	50	head	\$200,000
Recreation Horses	300	2,200	No. Brood Mares	800	head	\$1,200,000
Brood Mares (Total)						\$1,720,000
Stud Fees						
Race Horses	7		No. Stallions	200	mares bred	\$500,000
Show Horses		15	No. Stallions	300	mares bred	\$450,000
Recreation Horses		20	No. Stallions	70	mares bred	\$35,000
Stud Fees (Total)						\$985,000
Race Horses (Total)	10			35	head	\$420,000
Show Horses (Total)	25			45	head	\$225,000
Recreation Horses (Total)	300			350	head	\$525,000
Horses (Total)						\$3,875,000
POULTRY						
Broilers (Total)	15			2,500	lbs.	\$1,775
Edible Eggs (Total)	200	1,000	No. Hens	1,500	doz. eggs sold	\$975
Cull Hens (Total)				1,000	lbs.	\$150
Breeder Flocks (Total)	20	250	No. Birds	2,000	doz. hatching	\$760
					eggs sold	
Pullets (Total)	20			75	each	\$131
Poultry (Total)						\$3,791
RABBITS						
Fryers (Total)	10	500	No. Animals	1,750	lbs.	\$1,400
Does (Total)	10	600	No. Animals	2,000	lbs.	\$300
Rabbits (Total)						\$1,700
SHEEP						
Wool (Total)		1,000	No. Sheared	7,500	cwt.	\$1,875
Slaughter Lambs (Total)				600	head	\$95,363
Feeder Lambs (Total)				250	head	\$19,449
Show Lambs (Total)				150	head	\$45,000
Stocker Sheep (Total)				100	head	\$7,500
Cull Sheep (Total)				300	head	\$16,500
Sheep (Total)	85	800	No.Breeding			\$185,687
			Ewes			
GOATS						
Show Goats (Total)				50	head	\$11,250
ACADIA PARISH						

ACADIA PARISH

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Slaughter Goats (Total)			50	head	\$5,425
Stocker Goats (Total)			40	head	\$3,460
Cull Goats (Total)			40	head	\$2,400
Goats (Total)	15	100 No. Does			\$22,535
SWINE					
Show Pigs (Total)			100	head	\$28,500
Feeder Pigs (Total)			300	head	\$9,360
Slaughter Hogs (Total)			100	head	\$13,065
Culls (Total)			100	head	\$16,800
Swine (Total)	8	35 No. Sows			\$67,725
TOTAL ALL ANIMAL ENTERPRIS	SES				\$8,271,244

ACADIA PARISH \$68,362,585